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Ex 1: Evaluate this function at the given expressions, simplifying your answer.
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Ex 2: For f®)=+vx-1  and 8= 2—4 , simplify the resulting function and
determine the domain 1f apprupriawe.
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Ex 4: For f{x) = 3x + 5, find (f°f)(x) and its domain.

@ £ Yo)=F 560\ =F (Sx-l-S)

= 3(3)&-\3) +S =P +1S+S = Ix+20

doma,* ("‘, ve\

In calculus, one freguently is required to find a difference quotient, which is
defined byl f(x+h)—f(x)‘
h

Ex 5: Find the difference quotient for each of these.
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Decomposing Functions

Ex 6: Find two functions f'and g such that f{g(x)) = h(x) where
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